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(u#)calculate the freezing point of a solution Contaning 20g of KCl and 2200g H20 . (Mm

KCI=74.55) The Molal freezing point depression constant (Kp =1.86)
1.+40.23C

2.-0.23C
4,-1.23C
5.+0.45C
w#An aqueous solution of - will produce a basic solution.
1.CsBr 2 . ¥,
2. Mg (C104)2 | A
o NO2 18 Neuktal,
4, NH4NO3
5.KNO3

(#) When 0.5 g of unkown nonelectrolyte compound is dissolved in 10g of camphor (Kf=40)

freezing point of the solution lower than that of pure camphor If T=4.43, calculate the
unkown compound Mm?

1.55.4 g/mol
2.0.451 g/mol
3.3.54 g/mol

(u+)At a given temperature the Vapor pressure of benzene and toluene are 183 mmHg and
59.2 mmHg, calculated the total pressure over a solution of benzene and toluene
( X benzene =0.56).
1.102 mmHg
2.242 mmHg
3.121 mmHg

o In which of the following aqueous solutions does the weak acid exhibit the highest
percentage ionization?

( lowest wa) Highest Ju) 1)0.01M H2CO3 (Ka=4.5x10"-7)

(hss als,l )

(5,401 i el

2)0.01M H2S03 (Ka=1.4*10"-2)
3) 0.01M HCN (Ka=6.2*10"-10)
4)0.01M HOCI(Ka= 3.5*107-8)

o#The acid-dissociation constant of hydrocyanic acid (HCN) at 25°C is 4.9x10-10. What is
the pH of an aqueous solution of 0.060 M sodium cyanide (NaCN)?

1)11.04

2)9*107-12

3)2.96

4)1.1*107-3

(o). 2COF2(g) CO2(g)+ CF4(g)
The equilibrium constant (Kc) is 2 at 1000C for the reaction. If 0.43mol CO2 and 0.43mol

CF4 are into 1L flask What will be the concentration ofCOF2 at equilibrium?
1. 0.31M

2. 0.15M



() 2502(g) +02(g) 2503(g).  Kc= 1.7*107-4
s03(g)  1/202(g) + SO2(g). Ke=7?

1. 7.7*10%-4

2. 3.4*1072

3. 1.6*107-6

4. 85

(e alayl s o Sall i)
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1. Qc<Kc system proceeds from left to right to reach equilibrium ( Gsall ) (a)
2. Qc=Kc The system is at equilibrium (¢ s\s)
3. Qc>Kc system proceeds from right to left to reach equilibrium. (Jwasll Gsas) $4)

When a non-volatile non-electrolyte solute is added to a volatile solvent,

e 5} (Sl K15 lgydn Ul <an il , , _
3 1 ey el ), S e cii o 1. O'the freezing point of the solvent will decrease.

il et s Loy Lhases 2o Sl 2. Othe boiling point of the solvent will decrease.

G o s sie Bl ol LAl sl
Al on 5n o Th sslesia et 30 O the vapor pressure of the solvent will increase.
(e a8 J838 sl g oo Je iy sil)oulall

N 4. Oboth freezing and boiling points will increase.
5. Othe vapor pressure of the solvent will stay the same.

(u) H2(g)+ Br2(g) 2HBr(g)
O G Sl | Guds A mixture of 0.682 mol of H, and 0.440 mol of Br, is combined in a reaction vessel with a

chg! 3ala 585 ubas  volume of 2L. At equilibrium at 700 K, there are 0.536 mol of H; present. At equilibrium,
sla e yable ;X1 5K how many mol of Bry present in the reaction vessel?

1)0.146
2)0.536
3)0.00

4)0.294
5)0.440

¢ o oS3l st Ex:Calculate 0.1M CHOOH has pH=2.32.

aaalll e ol o3, 1.Calculate Ka. R ey

calS ;Q.LLLJ 849909 Ka=2.2*10A'4 .\ . ‘.—"J



